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			1) Select a Venn Diagram with a shaded region which represents  

			 A   			 [image: ]  			 B  			 [image: ]





			 C  			 [image: ]  			 D  			 [image: ] 
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			2) Which set notation matches with the shading in the Venn Diagram? Choose from A, B, C or D.

[image: ]			 A.   			     			 B.  			   			 C.   			     			 D.   			     
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			3) Select a Venn Diagram with a shaded region which represents  

			 A   			 [image: ]  			 B  			 [image: ]





			 C  			 [image: ]  			 D  			 [image: ] 








     



			[1]  


			4) Which set notation matches with the shading in the Venn Diagram? Choose from A, B, C or D.

[image: ]			 A.   			     			 B.  			   			 C.   			     			 D.   			     
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			5) Select a Venn Diagram with a shaded region which represents  

			 A   			 [image: ]  			 B  			 [image: ]





			 C  			 [image: ]  			 D  			 [image: ] 
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			6) Which set notation matches with the shading in the Venn Diagram? Choose from A, B, C or D.

[image: ]			 A.   			     			 B.  			   			 C.   			     			 D.   			     
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			7) Select a Venn Diagram with a shaded region which represents  

			 A   			 [image: ]  			 B  			 [image: ]





			 C  			 [image: ]  			 D  			 [image: ] 
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			8) Which set notation matches with the shading in the Venn Diagram? Choose from A, B, C or D.

[image: ]			 A.   			     			 B.  			   			 C.   			     			 D.   			     
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			9) Select a Venn Diagram with a shaded region which represents  

			 A   			 [image: ]  			 B  			 [image: ]





			 C  			 [image: ]  			 D  			 [image: ] 
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			10) Select a Venn Diagram with a shaded region which represents  

			 A   			 [image: ]  			 B  			 [image: ]





			 C  			 [image: ]  			 D  			 [image: ] 
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			11) Match the following notation with its corresponding Venn Diagram:
			 1.   			    			 2.  			   			 3.   			    			 4.  			   





			 A    			 [image: ]  			 B   			 [image: ]





			 C   			 [image: ]  			 D   			 [image: ] 
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			12) Match the following notation with its corresponding Venn Diagram:
			 1.   			    			 2.  			   			 3.   			    			 4.  			   





			 A    			 [image: ]  			 B   			 [image: ]





			 C   			 [image: ]  			 D   			 [image: ] 
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			13) The Venn Diagram below shows two sets, J and T.



[image: ]


Find:


a) P( )

     b) P( )

     c) P( )
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			14) The Venn Diagram below shows two sets, K and P.

[image: ]


Find     a) P( )

     b) P( )




            c) P( )

            d) P( )
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			15) The Venn Diagram below shows two sets, S and G.



[image: ]


Find:


a) P( )

     b) P( )

     c) P( )
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			16) The Venn Diagram below shows two sets, X and R.



[image: ]


Find:


a) P( )

     b) P( )

     c) P( )





     



			[1]  






Solutions for the assessment Basics of Venn Diagrams

			1) A


			2) B





			3) B


			4) B





			5) C


			6) D





			7) B


			8) A





			9) B


			10) D





			11) 1 D, 2 B, 3 A, 4 C


			12) 1 B, 2 D, 3 C, 4 A





			13) a) P( ) = 1     b) P( ) = 0.45     c) P( ) = 0.38


			14) a) P( ) = 0.73     b) P( ) = 0.26     c) P( ) = 0.52     d) P( ) = 0.49





			15) a) P( ) = 0.31     b) P( ) = 0.8     c) P( ) = 0.68


			16) a) P( ) = 0.6     b) P( ) = 0.77     c) P( ) = 0.1
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